import java.util.*;
class VectorDemo

{
public static void main(String[] args)
{| Vector v =new Vector/();
System.out.println("Capacity : " + wv.capacity()):

for(int i=5; i<=50; i+=5)

{ v.addElement (i) ;

}

System.out.println("Capacity Now :"+v.capacity()):

v.addElement ("A") ;

System.out.println("Capacity Now :"+v.capacity()):

for{(int i=0; i<=6; i++)

{ v.addElement (i) ;

}System.out.println("Capacity Now :"+wv.capacityl()):
System.out.println(wv);

e
Vector vl =new Vector(5,3);
System.out.println("Capacity : " + vl.capacity());//5

for(int i=2; i<=20; i+=2)
{ vl.addElement (i) ;
}
System.out.println({"Capacity Now :"+vl.capacity());//5+3+3=11
vl.add("Ram"} ;
vl.add("shyam") ;
System.out.println("Capacity Now :"+vl.capacity()).;//11+3=14 but 1 blank
for(int i=3; i<=30; i+=3)
{ vl.addElement (i) ;
}System.out.println("Capacity Now :"+vl.capacity()).;//14+3+3+3=23
System.out.println(vl) ;
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